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In case of discrepancy between the English and Hindi versions of any question, the |
Hindi version will be treated as final. H
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120 3= &I

(vi) u@® 9T & fou emdfed o 396 §9@ 39T 7T E|
Instructions :

(i) All questions are compulsory.

(ii) Question Nos. 1 to 5 are objective type questions. Each sub-question is allotted
1 mark. Internal options are given in all questions except objective type questions.

(iii) Question Nos. 6 to 15 are allotted 2 marks each. Word limit is about 30 words.

(iv) Question Nos. 16 to 19 are allotted 3 marks each. Word limit is about 75 words..

(v) Question Nos. 20 to 23 are allotted 4 marks each. Word limit is about 120 words.

(vi) Marks allotted to each question are mentioned against the question.
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1%6=6
1 =it wesi § @ fes gaee fafl

(i) =nfa = T & — .
(a1) & (@) T
®) @ (@) drEw
(ii) ofrafes o & fadan & - .
(o) Frpfea amme gorel 4 (7) v gRRafE
(@) Huf waul § gfe () et fra=
(iii) *qﬁ%fmﬁﬁmﬁmmwﬁwm%?

(o1) wFEaErE ~ (@) «weEE
(@) wmETER () SIrdwaE
(iv) "mﬂmmmaﬁﬁmﬁﬁwﬁmmmﬁwﬁmil"
T fFaq Fa?
(31) uw. @ 3a (@) ¥ fad
(@ B oApER . @ & o @t
(V) TEploa oT= A Seia R e
(&) . w difEm L (@) Hewew
(|) e e T (8 w9 uH U T\
(vi) = @1 7390 Aot fFe et 37
(3) T H et E © (@) YuEd o9 =9 3
(|) gt & (@ el & e §

Choose and write correct option of the following :
(i) It is the basis of caste - -
(a) Religion —, (b) Birth
(¢) Karma Q (d) Qualification
(ii) It is the characteristic nf industrial society.
(a) Developed market system :
(b) Given circumstances
(¢) Increase in personal relationships
(d) Informal control
(11i)) Which thinking is the result of colonialism?
(a) Humanism ™ (b) Socialism
(c¢) Imperialism (d) Terrorism

(iv) The process of mnvartmg rural areas in to urban areas is called
urbanisation. Who said that?

(a) F. C. Dube (b) Louie Wirth
() D. N. Majumdar (d) E.F. Bargel
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(v) Who originated the word Sanskritization?
(0) M. N. Srinivas (b)" Mahatma Gandhi
(¢) Raja Rammohan Roy (d}- M. S. A. Rao
(vi) Who does the 7374 Amendment of the Constitution related to?

(a) From the rights ol state (b) From the panchayati raj system

(¢) From municipalities (d): From tribal reservation
2 fem W Ao 1x6=6
(i) T @ A s it 2000 & SHET §1 % TAEE
Rerean wal % @ A £
(il) rea % A Wi § W) @ gAied & amrart a7 famar T
(i) wa ¥ dEEd S Hae i 1 g AHTT &
(iv) HiY S § o0 & @9 g gha @ HET AT o |
(v) ST SR E S v & 99t SaEn ¥ 49 9 e €
a9 35 wkear ® #1 wihar Her ol & |
(vi) SraTEe Ut ST T TaT FeEed @ giger @ GERICH

Y ST SEEd &
Fill in the blanks :

(i) According to the National Population Policy of India. 2000, to target
is to achieve population stability by the year

(ii) Afier independence the states in India were reorganised on the basis
of '

(iii) The Panchayati Raj System is the main basis of democratic
in India.

(iv) The rapid increase in agricultural productions is called

(v) When the government starts selling shares of public industries in
the stock-market. then this process is called

(vi) For Online games and WhatsApp on mobile. it is necessary to connect
with technology.
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3 Trefafes = % il w @ s fafao 1%6=6

(1) wae wfq &1 "ay geq sfrl @ @an 8

(i) 0 THEA T B My Tar F a9e 9 S e # 1

(iii) o vard & qeva @ frated swaea waem g g fear s g

(iv) wRa A @l @ A &1 9rer g9 1991 A gam !

(V)  =EUsT FEtEl w1 vga 3ieg femost ot aifus g st susrEme
H gfig & B

(vi) ﬁmﬁmarﬂaaanﬁmeqﬁﬁl

Write True or False for the following sentences :

(i)  The dominant caste is related to the higher casles.

(i) Raja Rammohan Roy is also called the father of Indian nationalism.

(iti) The sarpanch of the gram panchayat is elected by indirect voting
system.

(1v) The policy of liberalization in India started in the year 1991,

(v)  The main aim of multinational companies is to increase consumers
by investing more on advertising, '

(vi) Computers do not contribute to the electronic economy.

4 Tr=ffeaa &1 v 9= | 9| § o fafao 1x7=7

(i) e fq w7 &7

(i) wa ¥ fadra Rt of smarm % sege o7 A T &7

(iii) WA H el ¥ 9ed HY &4 F FH-dr war watig o2

(iv) “HeeEE T 37 AT A G H ows B B o

(v) #ifEar @& “Wied=s &1 9ei@’ ey Fer e

(Vi) T & WY & b A FEEYT BB B A T L7

(vii) ﬁ&aq&m&ﬁaﬁmh&mﬁ%mmmmﬁgﬁamm
AH FTE 7

Write the answer in one word / sentence of the following :

(1)  What is monetary policy?

(i) What is the name of the chairman of the Second Backward Class
Commission in India?

(iif) Which practice was prevalent in the agricultural sector in India
before independance?

(iv)  Who is the author of the book "Satellite Invention in India®®

(v) Who called media the "guardian of democracy"?

(vi) What is the name of the program related to preventing pollution of
Ganga?

(vii) What is the name of the commission appointed by the Government of
India to provide justice to exploited women?
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5§ fFr=fra A v S T 1x7=7
() R=g faw afufom (31) @HW GUTT S
(i) wiwpfe wam i~ (@) @ et
(i) wafrar g = (@) taw, S, ZdlwE
(iv) &t war @1 aid = (@) argEfamar w1 e
(v) soiierll seges 4 (3 1951
(vi) ARaw dar iy (%) 1955
(vil) rfes o wiveqt e () e e
Match the correct pair of the following :
(i)  Hindu Marriage Act " (A) Social reform movement
(ii)  Cultural identity . (B) Soap Opera
(iii) Jyotiba Phule - (C) Fax, e-mail, telephone
(iv) End of Sati Pratha ' (D) Sense ol community
(v) Abolition of Zamindari system (E) 1951
(vi) Global communication! (F) 1955
(vii) Musical episodes of the serial (M) Raja Rammohan Roy
6 Rt @i el wed 7 2
What is called replacement Elr.:val‘?
arar / OR
Wt W Srreen s % g o sy fafta
Wrile any two measures l_tff'lc011ll‘0] population in India.
7 SR EEE R wE ¥ 2
What is called tribal community?
o4 srEr/ OR
arfer @ B 2 Frdwenait At @)
Describe any (wo [eaturey of caste.
8  ‘‘arged g W wT Awdd &7 2
What is meant by "Invisible hand"?
s / OR

wrefadm arderaen R wed B 7

Whalt is called weightless economy?
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9 WE A we D &
Discuss about Discrimination.
3T/ OR
e afetw ) sEueor %) e #Hifa |

Discuss the concept of social exclusions.

10 wh&smam%ﬂﬂaﬁ%aﬁﬁ?ﬁﬁmwﬁaﬁﬁmr 2
State any two structural changes, brought about by colonialism.
3ar / OR

VAT § T4 e &7
What is meant by migration?

11 WW%Ma‘raﬁﬁn’fiﬁrﬁﬂrﬁﬁm 2
Write any two objectives of Brahmo Samaj. '
¥/ OR
HEEHIE BN ST T F bEr wan &7
Why is the medieval period called the 'Dark age'?

12 ST TWIE TG BTG H WA B B Wl ey &7
How do pressure groups influence the government by influencing public
opinion?

bJ

EMIOR
Wﬁ%ﬁﬂﬁ%ﬁéﬂmﬁﬁﬁrﬁmr

Write any two functions of political parties.

13 e §@f o) wea 7 L 2
What is corporate culture?
a1/ OR
ﬁmﬁaaﬁrﬁwmﬂﬁ%aﬁﬁwam%?ﬁrﬁml

What is the difference between developed and developing countries ? Write.
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TAHYS (Ara i) wan A Arew @ ow e fea g @ B 7
How is mass media a pdrt of our daily life?

gar/ OR
91§ B A W 9 gEE e % A fafta

Write the names of any four Newspapers published in the country.

FIaHTl = f5e weq & 7

Which movement called 'a revolutionary movement?
Fyar / OR

A Sr=ier &1 Hi3 & faguand fafad |

Write any two characteristics of social movement.

SUfTEITEE % 3114 % qyard Wy sideran e orat & aEe 2 fadee St

Explain, in what ways did the Indian economy change after the coming
of colonialism. ;

_ srr / OR
uof qar arqef am ¥ 1 dF e fifo

Write any three differences between Perfect and Imperfect markets?

a1 &1 sfaswre sfaf@m, 2005 & qasEd |
Explain Right to Information Act, 2005.

yar / OR
5 L e £ o B 7 | B = e s 3 2 o e

Describe any three characteristics of Secularism.

TETLH0T FT & 7 oAy |
What is Liberalization? Explain.

3tyar / OR
gy GUTT &1 AT G 9T FT WHIE 957 7

What impacts did land reforms have on Indian Society?

eftenfie o @) el i fagraaet @1 fafe)
Write any three characteristics ol industrial society.
3 / OR

fafya s1d=gar f&a wed & 7

What is a mixed economy?




20 um smme AR 2000 & ey ffed) gg N @ g &1 e
it |

Write the objectives of National Population Policy 2000 and cvaluate
the success ol this policy.

arEr / OR
T H Sifea @) @5 a9t fagwaen & gt 3 aulq Sifs

Brielly describe any four features of demography in India.

21 wifd & ®ig =9 yya fadwaen @ avia S
Describe any four main characteristics of caste.
st / OR
g uiE & =l are g @ qui i

Describe any four merits of a joint family.

22 @9 U5 fpg od F %% wHha © f ‘orerer fyeh orlife & s @
qrHIfSTS i ? '
In what sense can we say that the 'disability' is as much social as it is
physical?
3qEr / OR
I g fordl & i qem & &n & € 7 W i

What are the reasons for the poor condition of women in Indian Society?
Explain.

23  HIA H WG AR d STETO R @ e s
Describe the basic reasons of (ribal movements in India,
A/ OR
Frefofad ut g fraelt faftad:
(1) Fagas =i
(2) wEfREE e |
Write short notes on the following :
(1) Chipko Movement
(2) New-Farmer Movement
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